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1.

W A d W fhad ufded ol

e el & ?

(A 75%

(B) 25%

(C) 50%

(D) SWH # | B &l

X Fae IYUE D S Sl &

(A) gdrI SuUE

(B) -JeTdIlcids IWT
(C) (A) IR (B) T
(D) SWE & W B &l

STel UGy BT BRI B :
(A) DD

(B) VT g

(©) (A) 3R (B) <
(D) SWa ¥ ¥ I3 T

W B U B R B g G

& foru gg a1 <1 9 g ?
(A) ¥Bell

(B) e U

(C) wea

(D) SWad # | BIS T
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1.

4.

How much percent of energy is absorbed

from the Sun to Earth ?

(A) 75%
(B) 25%
(C) 50%

(D) None of the above

Remote sensing satellite is known as :

(A) Polar satellite
(B) Sun-synchronous satellite
(C) Both (A)and (B)

(D) None of the above

Reason of water pollution is :
(A) Pesticides

(B) Population growth

(C) Both (A) and (B)

(D) None of the above

Sewage water can be purified
recycling with the action of :

(A) Fishes

(B) Aaqguatic plants

(C) Micro-organisms

(D) None of the above

for
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5.  fa=fafad § 9§ 9-91 Ud PleAd sef 5. Which of the following is not a

s 9 pesticide ?
(A) SIS (A) D.D.T.
(B) dI. Td. I, (B) B.H.C.
(C) THfed (C) Ephedrine
(D) SUYH H ¥ Blg el (D) None of the above
6. fa99 &I Wad YRIg Ple9d ¢ 6.  The most famous pesticide of the world
is :
(A) fide (A) Flit
(B) dI. U@ ¥l (B) BHC
(€) €S a (C) DDT
(D) Suga H A Bl el (D) None of the above

7. DIF-A USUG WAl UGVl @7 Y9 W 7. Which pollutant is the major source of

80 marine pollution ?
ESES] (A) Sewage

(B) i smufdre oid (B) Industrial waste water
(C) MY 3qarg (C) Agricultural runoff
(D) SUYa H A Bl 7l (D) None of the above
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8. fHfoRed # ¥ SF-91 U6 ol UG 8.  Which of the following is a water

polluting factor ?

BRE © ?

(A) T (A) Ammonia

(B) fSeoie (B) Detergent

() ienf® i (C) Industrial waste
(D) SUgad JHI (D) All of the above

9. IAR® w9 9 SYIAN bl M arall 9. The first organic pesticide to be used

TEdT S BIeATed o | commercially was :

(A) 2, 43I (A) 2,4-D

(B) grer AT (B) Bordeaux mixture
(C) SISl a (C) DDT

(D) Suga H A Bl Tl (D) None of the above

10. ST YUY I AR Bl FAYH [ 10. Who was the first to recognise the

problem of water pollution ?

Uga ?

(A) doH (A) Thales

(B) o (B) Thomson

(C) feumheH (C) Hippocrates

(D) SUYH H ¥ Plg el (D) None of the above
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11. 2, 431 UF © : 11. 2,4-Disa:

(A) gg Fame (A) Growth regulators
(B) TRUGARATIN (B) Weedicide
(C) (A) 3R (B) THI (C) Both (A) and (B)
(D) SuYa H H Bl el (D) None of the above
12. FHfRad § | SF- a1 9 U5 § 12.  Which of the following metals is a water
3R CH ¥ Fe10T @7 FRY 9 & ? pollutant and causes sterility in human
being ?
(A) Hg (A) Hg
(B) Mg (B) Mg
(C) As (C) As
(D) Mn (D) Mn

13, @Icl 3R M & IRV FY IARHA H 13. Loss of agricultural productivity due to

T Bl § pests and diseases is :
(A) 5% (A) 5%

(B) 10% (B) 10%

(C) 15% (C) 15%

(D) 30% (D) 30%

14. F=faReg & 9 fog avesd &1 W 14.  Which of the following wavelengths is

normally used in remote sensing ?

AT R e H fdhar S @ 2

(A) IR & TN (A) Near infrared
(B) SN (B) Visible

(©) (A) ¥R (B) T (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (6) Set-D



15. f=foRed § 9 -9 9Ral § @Rg - 15.

WRY T T HRYT © °

(A) T T
(B) g FG
(C) fel W
(D) Suda Wl

16. 91y YSuY e HROT 5l Bl © ° 16.

(A) TEgEcllded UlR
(B) S

(C) R

(D) STad # | DS T2

17. fefeied & & @F-a1/9 g@1 yguo 17,

F/DATE/E?
(A) 3URre 3R Ao
(B) NIIME SIR®
(C) WIcRI®

(D) SHIE W

18. f=foRad # ¥ o9- v f g i 18,

g 7?

(A) SifedIo

(B) g Jlass

(C) ®rERIoH

(D) SUYa H A Bl 7l

SSAC-5009 (7)

Which of the following is the major cause

of poor health in Indians ?

(A) Soil pollution
(B) Air pollution
(C) Water pollution

(D) All of the above

Air pollution is not caused by :
(A) Hydroelectric power

(B) Industries

(C) Pollengrains

(D) None of the above

Which of the following is/are

source(s) of social pollution ?

(A) Effluent and sewage
(B) Chemical fertilizers
(C) Pesticides

(D) All of the above

the

Which of the following is a Green house

gas ?

(A) Oxygen
(B) Nitrous oxide
(C) Hydrogen

(D) None of the above
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19.

20.

21.

22.

frfofed & 4 a9 &9 & fov @
Ri 2 ?

(A) M A &

(8) smefd

(©) (A) 3R (B) T

(D) SUda ¥ ¥ BIg T

Ul & g T @ gl Ufdd
[ gRT UG & Il & 7

(A)

(B) oI

©)

(D) STda # & Big AL
Y v el &wd §
(A) IRPI PI

(B) DICARI®! &

(©) & frammet a1

(D) SHIE W

dled AFRIedge fhdel W Ugyd
g7

(A)

g
(B) qaT
SE

TR W B

(©)
(D)
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19.

20.

21.

22.

Which of the following is a sink for
carbon ?

(A)
(B)
(®)
(D)

Old oil fields

Wetlands

Both (A) and (B)

None of the above

The first line of defense against pollutant
IS imparted by :

(A)
(B)
(®
(D)

Air

Water

Soil

None of the above
Agricultural Chemical denotes :

(A) Fertilizers
(B) Pesticides
(C) Growth regulators

(D) All of the above

Carbon monoxide is a major pollutant of :
(A) Air
(B)
(©)

Soil
Water

None of the above

(D)
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23. {difdd BHRD AL T 23.  Most harmful pollutant is :

(A) SO, (A) SO
(B) SO, (B) SO
(C) COs (C) cos
(D) SWE ¥ | FIg el (D) None of the above

24, W& qg:qaﬁ DI Tfeeficrdr @1 foaa e 24.  Soils check the mobility of pollutants by :

frifa @t 2 ?

(A) G (A) Sorption

(B) difds fiRmae (B) Biological degradation
(C) YNNG fRmEe (C) Chemical degradation
(D) Sugad FI (D) Al of the above

25. ¥R H YA fhar WM drell 999 37 25. The most common pesticide used in India

PRS2 - s

(A) 9TH (A) Baygon

(B) S92l (8) DDT

(€) 9. Ta . (C) BHC

(D) SUYa H A Bl 7l (D) None of the above
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26.

217.

28.

29.

SSAC-5009

qg YW & UMIG JHAR W U S
g

(A) IRR W

(B) v ®

(C) T W

(D) SUE F F P el

g TUTERI Hebeldb @ -
(A) P

(B) HMN

(C) 3ara

(D) Suda Wl

A D AF § IE FI9 faemen 19
ey 1 2

(A) CH,

(B) C,0

(C) CFC

(D) Suga H A Bl 7Tl
e 3MTRT PIeNd © /8
(A) f[erdE

(B) M @I dal

(© (A) R (B) T

(D) SWad # | BIS T

(10)

26.

217.

28.

29.

Air pollution effects are usually found
on:

(A) Leaves

(B) Roots

(C) Stems

(D) None of the above

Air quality indicator is :
(A) Lichen

(B) Moss

(C) Algae

(D) All of the above

This is the most potent green house gas in

terms of efficiency :

(A) CHq
(B) C.0
(C) CFC
(D) None of the above

Plant based pesticides is/are :
(A) Nicotene

(B) Neem oil

(C) Both (A) and (B)

(D) None of the above
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30.

31.

32.

SSAC-5009

fy=forRad & &1 f 9 @1 Toliget arfifr
¥ Jaifde AT & ?

(A) HH

(B) g Jlass

(C) DR SRIARIES

(D) SWF ¥ ¥ PIE T

N &sw g @ fou fefaied § 9

H-A1 I R € ?

(A) NO;
(B) CO

€ O

(D) SHIE W

Q. S < @ fgdd Bl W
YT YaT Heel & |

(A) drg, Mgl 3R gl

(B) @de Y IR fAgh

(C) ®dd da1g 3R WA

(D) SUYa H A Bl 7l

(11)

30.

31.

32.

Which of the following gases has the

highest contribution to global warming ?

(A) Methane
(B) Nitrous oxide
(C) Carbon dioxide

(D) None of the above

Which of the following gases is

responsible for Green house effect ?

(A) NO;
(B) CO;
€) O

(D) All of the above

Spraying of D. D. T. on crops produces

pollution of ....................

(A) Air, Soil and Water

(B) Airand Soil only

(C) Airand Water only

(D) None of the above
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33.

34.

35.

36.

SSAC-5009

DICARIG SIRG (B UGIT F SR

AT E ?

(A) a1 U
(B) Tt Aqyu
(C) a1 YT
(D) SWa &l

fefofad & @ Ud S 3R gaT Hgue
B & A B

(A) G

(B) oA TR WIH

(©) FfY &M

(D) ST W

qret fasm 2

(A) TS
(B) 3iFHIHIR®E

(C) APHEH HaBIN

(D) SWa ¥ ¥ I3 T

Frfad # 9 Br-a1 T T & 7

(A) FET SRifaITSS

(B) WX SIR3IRISS

(C) HET AFRIFIES
(D) SWad # | BIS T

(12)

33.

34.

35.

36.

Pesticide  fertilizer  causes  which

pollution ?

(A) Soil pollution
(B) Water pollution
(C) Air pollution
(D) All of the above

One of the following is the chief source
of water and soil pollution :

(A) Mining
(B) Thermal power stations
(C) Agro-industry

(D) All of the above

Bordeaux mixture is :
(A) Antibiotic

(B) Organophosphate
(C) Inorganic fungicide
(D) None of the above

Which of the following is not a

pollutant ?

(A) Carbon dioxide
(B) Sulphur dioxide
(C) Carbon mono-oxide

(D) None of the above

Set-D



37. fwafafiEd # & ®N-A1 g Hdad 37. Which of the following is an area of

W 3T TP & & ? remote sensing application ?

(A)  AFEE 3R Tel G (A) Mapping and water resources
(B) STITOTAT (B) Census

(C) 3IST IUTeH (C) Egg production

(D) SUYd H H IS el (D) None of the above

38. fimfofad # & oH-1 & U@ ygwa 38 Which of the following is not a major

pollutant which causes soil pollution ?

el 2 i 7T USHYT BT HROT T 8 7

(A) G dd (A) Mineral oil

(B) NI €Tq (B) Heavy metal

(OB SERRIESIES (C) Nitrogen oxides
(D) Suga H A Bl 7Tl (D) None of the above

39. f=foifed & 9 o=l ¥ 89 39 39. Which of the following is not a green

R, house gas ?

(A) N0 (A) N,O

(B) co, (B) co,

(©) so, (©) so,

(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (13) Set-D



40. BICIORES W BT G499 g ECAR g 40. Photochemical smog is related to the

39 pollution of :

(A) dY (A) Air

(B) H« (B) Soil

(C) dld (C) Water

(D) Sugad Fl (D) All of the above

41, 9Rd H 3MCig 99 §9 BRY 9 9T 41. Acidic rains are not common in India due

SRS o
(A) TaTH gd (A) Dustin air
(B) T &l (B) Rural areas
(C) a1 H ¥H so, (C) Less SO in air
(D) SUYd H § I el (D) None of the above
42. eI B UeRf T 37T Wods © 42.  Soil organic matter is a good indicator of :
(A) YNNG @R B (A) Chemical health
(B) ifd® wWrRey &1 (B) Biological health
(C) IRIRG WReT I (C) Physical health
(D) Sugad FI (D) Al of the above

SSAC-5009 (14) Set-D



43, fa=foRad & 9 @9 @ o SIER] 43.  Which one among the following is a free

@ﬁ?ﬁ :”3@7"_’[ ReRRAT STERaT & 2 living aerobic nitrogen fixing bacteria ?
(A) IgSIITeA (A) Rhizobium

(B) dATEAdR (B) Cyanobacter

(C) Tollelddex (C) Azotobacter

(D) SWE ¥ | TS el (D) None of the above

44, fedrg faeg pEs I UYgd Pic NI @ 44. Before World War 11, which chemical

17 fre X TN AT ST o ? was used for pest control ?
(A) f[erdE (A) Nicotine

(B) IRF RIS (B) Boric acid

() SISl (C) DDT

(D) SUYd H § I el (D) None of the above

45. f=foRaa 8 9 aa-d1 T oWl 45.  Which one of the following gases can

deplete ozone layer in the upper

qIATSH H A WA B T B Febell
atmosphere ?

g7

(A) He (A) Methane

(B) 3 (B) Ammonia

(C) HET AFRITHIES (C) Carbon monoxide
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (15) Set-D



46, f=foRag & 9 H-91 IRIfeU<dd 46.

YU 8 7

(A) SISl

(B) wIR<®
OEIES]

(D) SWa ¥ ¥ IS T

47. NJ-8RT 9 gRT 99 @ W ¥ Uy 47

IR AIZEIO Bl el A3 Sikg Adhal
g

(A) 30—35 fp. /3.

(B) 25-30 f&m. /3.

(C) 2025 f&um. /3.

(D) 10—15 f&m. /2.

48. 1Y U{EY SENT & : 48.

(A) g v
(B) &% Aid
(C) dsd A

(D) ST W

SSAC-5009 (16)

Which of the following is biodegradable

pollutant ?

(A) DDT

(B) Plastic

(C) Sewage

(D) None of the above

Blue-green algae can add upto what

quantity of nitrogen per hectare to a rice

field ?

(A) 30-35 kg/ha.

(B) 25-30 kg/ha.

(C) 20-25 kg/ha.

(D) 10-15 kg/ha.

Air pollution industries are :

(A) Point sources

(B) Areasources

(C) Line sources

(D) All of the above

Set-D



49. M9 T89 49 H i 2 : 49. Green house gas include :

(A) CH, (A) CH,
(B) N,O (B) N,O
(C) CO, (C) CO;,
(D) SWa &l (D) All of the above

50. P-4 M Te9 19 G99 e AmEn § 50. Which is the most abundantly found

oy e R ? green house gas ?
(A) EIDE (A) Methane
(B) Slel diH (B) Water vapour
(C) T STaifaTsS (C) Carbon dioxide
(D) Sugad F4I (D) All of the above
51. HMd IR § S S . B Algal d¢ ol 51. DDT concentration increases in the
T wifs Iz W 2 human body because it is soluble in :
(A) UEH H (A) Protein
(B) @l H (B) Fat
(C) faerfem # (C) Vitamins
(D) SUYa H H IS Tl (D) None of the above
52. 3% i 7 RIESIES]] @ BRI Bl 52. Acid rain is caused by oxides of .............
gl
(A) TR AR eI (A) Sulphur and Nitrogen
(B) ISgIoM iR BIeH (B) Nitrogen and Carbon
(C) R 3R TEEIoH (C) Sulphur and Nitrogen
(D) SUYa H A Bl 7l (D) None of the above

SSAC-5009 (17) Set-D



53. fog ammmE # ) @1 fderg R-gR g@lar 53. In - which temperature soil develops

39 slowly ?
(A) ¥ (A) Cold
B) Hi (B) Summer
(C) «x¥Id (C) Rainy
(D) SWE ¥ | FIg el (D) None of the above
54. WoRid Ul @ fbwe gRT yg fbar o1 54. Polluted water can be purified by using :
qHAT § ?
(A) T (A) Algae
(B) @IcARI® (B) Pesticides
(C) qeHoig (C) Micro-organisms
(D) SUYa H H IS el (D) None of the above
55. U BT UNe dcd O B 8 55.  Plants receive nutrients from :
(A) TBII | (A) Light
(B) QTR W (B) Atmosphere
(C) W& d (C) Soil
(D) Sugad FI (D) All of the above

56. WY 3R AZEM @ JATFISS Aedyul 56. Oxides of sulphur and nitrogen are

important pollutants of :

(A) gD (A)  Air

B) Y d (B) Soil

(C) A B (C) Water

(D) Sugad FI (D) All of the above

SSAC-5009 (18) Set-D



S7.

58.

59.

60.

SSAC-5009

T el e A g B €
(A) 40—45 TSIt Afesm W

(B) 20—25 feift wfesmy W
(C) 10—15 feift wfesm W
(D) 34—36 fSift Afewram

Sifdd SffeRio 6T U fhae! A7ue
& forv favam oiar 2 ?

(A) T UgmT

(B) &af ugy

(C) VfcT gy

(D) SWE ¥ | TS el

fy=foRed & 9 oH-91 Uy gMH
fddrT BT Xyt B 7

(A)  Siifdo

(B) foraxfer

(C) ufsaRte uRre

(D) SWa ¥ ¥ IS T

T T g HROT J B & 7

(A) BIEgIo

(B) HH

©) W+ z=d ™

(D) SWad # | BIS T

(19)

57.

58.

59.

60.

Soil microorganisms are most active at :
(A) 40-45°C
(B) 20-25°C
(C) 10-15°C
(D) 34-36°C

Biological oxygen demand test is made

for measuring :

(A) Soil pollution
(B) Noise pollution
(C) Water pollution

(D) None of the above

Which of the following plant hormones
inhibits growth ?

(A) Auxins
(B) Gibberellins
(C) Abscissic acid

(D) None of the above

Global warming is caused by :
(A) Hydrogen

(B) Methane

(C) Green house gases

(D) None of the above

Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® U & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § grfd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©

TSI IR AT U IR I8 PIeT AT 98a T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T986 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
fuiRa WM & aremar =9 @8l W fear M
STR A T8l 81 |

3. TH. 3R, STR-U36 (OMR Answer Sheet) R
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e fd & SW wendt vy FRee B
3T OMR Answer Sheet SUTE &XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, YEH-GRADT & 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

U & f2val U9 Sl wurRer § AT 89 @l
T H YT BT U WURYT & A BT |
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